

The primitive solutions to the Diophantine equation $2X^4 + Y^4 = Z^3$

Gustaf Söderlund

Kettilsgatan 4A 582 21 Linköping, Sweden

e-mail: g.soderlund3@outlook.com

Received: 30 May 2016

Accepted: 31 January 2017

Abstract: We find all primitive non-zero integer solutions to the title equation, namely $(x, y, z) = (\pm 5, \pm 3, 11)$. The proofs involved are based solely on elementary methods with no use of computers and the elliptic curve machinery.

Keywords: Diophantine equations, Primitive non-zero solutions.

AMS Classification: 11D41.

1 Introduction

Terai and Osada and Cao published two papers in the early 1990s concerning the similar equations $x^4 + dy^4 = z^p$ and $cx^4 + dy^4 = z^p$, where p is an odd prime. They showed that these equations have no integer solutions if certain conditions are fulfilled [1, 2]. According to a theorem of Darmon and Granville, the equation $Ax^p + By^q = Cz^r$ has only a finite number of primitive non-zero solutions (i.e., Ax, By and Cz are pairwise relatively prime and $x \cdot y \cdot z \neq 0$) if $\frac{1}{p} + \frac{1}{q} + \frac{1}{r} < 1$ for A, B, C fixed non-zero integers and p, q, r fixed integers > 1 [3]. Applying this we conclude that the title equation has a finite number of primitive non-zero solutions. The similar equation $2x^2 + y^4 = z^n$ has been examined for all $n \geq 4$. Combined works using elliptic curves for different exponents (n) and the method of Galois representations and modularity have shown that the only primitive positive non-zero solution to this equation is $(x, y, z, n) = (11, 1, 3, 5)$ [4, 5]. Many equations with $\frac{1}{p} + \frac{1}{q} + \frac{1}{r} < 1$ and A, B, C fixed non-zero integers have been completely solved [6, 7, 8], in appropriate cases simply and solely with elementary methods [9]. For the special case when $A = B = C = 1$, i.e., $x^p + y^q = z^r$ there is a conjecture stating that there

are no primitive non-zero solutions when $\min(p, q, r) \geq 3$ [7,10]. However, should the *abc*-conjecture become a theorem there exist only a finite number of primitive non-zero solutions to the equation $Ax^p + By^q = Cz^r$ for A, B, C fixed nonzero integers and all positive p, q, r such that $\frac{1}{p} + \frac{1}{q} + \frac{1}{r} < 1$ [11] where solutions arising from the identity $1^p + 2^3 = 3^2$ are excluded.

In this work, we determine all primitive non-zero solutions to the title equation using only elementary methods and at one crucial step with the aid of an old theorem of Lucas [12].

Lemma 1. *The Diophantine equation $24z^4 = x^4 - y^4$ has no non-zero solution.*

Proof. With no loss of generality we may assume that $(24z, x, y) = 1$. Hence $24z, x$ and y are pairwise relatively prime and after congruence considerations we realize that x and y are odd and z is even. Substitute $x = p + q$ and $y = p - q$ where $p \not\equiv q \pmod{2}$. $(p, q) = 1$ since $(x, y) = 1$. Hence, $24z^4 = 2^3 \cdot (p^2 + q^2) \cdot p \cdot q \implies 3z^4 = (p^2 + q^2) \cdot p \cdot q$. Since $(p, q) = 1$ we see that $3 \nmid (p^2 + q^2)$. Hence $3 \mid p$ or $3 \mid q$. If $3 \mid p$, we have $p = 3v$. Hence $z^4 = (p^2 + q^2) \cdot v \cdot q$. However $p^2 + q^2, v$ and q are pairwise relatively prime and we have $p^2 + q^2 = A^4$ and $q = B^4$. Hence $p^2 + (B^4)^2 = A^4 \implies p^2 = A^4 - (B^2)^4$ and this well-known equation has no non-zero solutions and a proof of this fact can be found in e.g. [13]. If $3 \mid q$, we will have a contradiction in the same way. \square

Theorem 1. *The only primitive non-zero solutions to the equation $2x^4 + y^4 = z^3$ are $(x, y, z) = (\pm 5, \pm 3, 11)$.*

Proof. From prerequisites we see that $2x, y$ and z are pairwise relatively prime and $x \cdot y \cdot z \neq 0$. Thus, after congruence considerations we realize that y and z must be odd. We get,

$(y^2 + x^2\sqrt{-2}) \cdot (y^2 - x^2\sqrt{-2}) = z^3$ where $y^2 + x^2\sqrt{-2}$ and $y^2 - x^2\sqrt{-2}$ are coprime in $Q(\sqrt{-2})$. Since $Q(\sqrt{-2})$ has unique factorisation and all units (± 1) are cubes we have,

$$y^2 + x^2\sqrt{-2} = (a + b\sqrt{-2})^3. \text{ Hence,}$$

$y^2 = a(a^2 - 6b^2)$ and $x^2 = b(3a^2 - 2b^2)$. Since y is odd we see that a must be odd. $(a, b) = 1$ since $(x, y) = 1$.

Case I. $3 \nmid a$ and $3 \nmid b$

Hence $(a, a^2 - 6b^2) = 1$ and $(b, 3a^2 - 2b^2) = 1$. From $y^2 = a(a^2 - 6b^2)$ it follows that

$$a = \pm U_1^2 \tag{1}$$

and

$$a^2 - 6b^2 = \pm U_2^2 \tag{2}$$

where U_1 and U_2 are odd. $(a, U_2) = 1$. The negative sign in (1) and (2) must be rejected after reduction modulo 3 of equation (2). From (1) and (2) we get $6b^2 = U_1^4 - U_2^2$. Hence we must after congruence considerations conclude that b must be even. On the other hand we see from $x^2 = b(3a^2 - 2b^2)$ that

$$b = \pm V^2 \tag{3}$$

and

$$3a^2 - 2b^2 = \pm U_3^2. \tag{4}$$

Since $(b, U_3) = 1$ we must after reduction modulo 3 of equation (4) reject the negative sign in (3) and (4). Thus from equation (4) we have $2b^2 = 3a^2 - U_3^2$ and since a and U_3 are odd we realize after congruence considerations that b must be odd. Hence we have a contradiction and Case I must be impossible.

Case II. $3 \nmid a$ and $3 \mid b$

Hence $b = 3v$. Since $(a, a^2 - 6b^2) = 1$ it follows from $y^2 = a(a^2 - 6b^2)$ that $a = \pm U_1^2$ (1) and $a^2 - 6b^2 = \pm U_3^2$ (2). U_1 and U_3 are odd and $(a, U_3) = 1$. The negative sign is rejected in (1) and (2) after reduction modulo 3 of equation (2). From (1) and (2) we have $U_1^4 - 6b^2 = U_3^2$ (3). With $b = 3v$ (4) we see from $x^2 = b(3a^2 - 2b^2)$ that $3v(3a^2 - 2 \cdot 9v^2) = x^2 \implies 9v(a^2 - 6v^2) = x^2$. Since $(9v, a^2 - 6v^2) = 1$ we get

$$v = \pm V^2 \quad (5)$$

and

$$a^2 - 6v^2 = \pm U_2^2 \quad (6)$$

where U_2 is odd. Since $(a, U_2) = 1$ we must reject the negative sign in (5) and (6) after reduction modulo 3 of equation (6). From (3), (4) and (5) we have

$$U_1^4 - 54V^4 = U_3^2 \quad (7)$$

and from (1), (5) and (6) we have

$$U_1^4 - 6V^4 = U_2^2. \quad (8)$$

From (7) and (8) we see that V must be even. Furthermore $(8) - (7) \implies$

$$48V^4 = U_2^2 - U_3^2. \quad (9)$$

From (8) we get

$$9U_1^4 - 54V^4 = 9U_2^2. \quad (10)$$

$(10) - (7) \implies$

$$8U_1^4 = 9U_2^2 - U_3^2. \quad (11)$$

From (9) we have,

$$48V^4 = (U_2 + U_3) \cdot (U_2 - U_3).$$

Let $V^4 = 2^{4k} \cdot U^4$ where U is odd and $k \geq 1$. Hence,

$$48V^4 = 3 \cdot 2^{4k+4} \cdot U^4 = (U_2 + U_3) \cdot (U_2 - U_3),$$

where $U_2 + U_3$ and $U_2 - U_3$ can be expressed as $\pm 2p$ and $\pm 2q$, respectively. Moreover $p \not\equiv q \pmod{2}$ and $(p, q) = 1$ since $(U_2, U_3) = 1$. Thus we have the following possibilities since $3 \mid p$ or $3 \mid q$,

i1.) $U_2 + U_3 = \pm 2A^4$ and $U_2 - U_3 = \pm 3 \cdot 2^{4k+3} \cdot B^4$. Hence

$$U_2 = \pm(A^4 + 3 \cdot 2^{4k+2} \cdot B^4), U_3 = \pm(A^4 - 3 \cdot 2^{4k+2} \cdot B^4) \text{ and } 3 \nmid A.$$

i2.) $U_2 + U_3 = \pm 3 \cdot 2A^4$ and $U_2 - U_3 = \pm 2^{4k+3} \cdot B^4$. Hence

$$U_2 = \pm(3A^4 + 2^{4k+2} \cdot B^4), U_3 = \pm(3A^4 - 2^{4k+2} \cdot B^4) \text{ and } 3 \nmid B.$$

i3.) $U_2 + U_3 = \pm 2^{4k+3} \cdot A^4$ and $U_2 - U_3 = \pm 3 \cdot 2B^4$. Hence

$$U_2 = \pm(2^{4k+2} \cdot A^4 + 3B^4), U_3 = \pm(2^{4k+2} \cdot A^4 - 3B^4) \text{ and } 3 \nmid A.$$

i4.) $U_2 + U_3 = \pm 3 \cdot 2^{4k+3} \cdot A^4$ and $U_2 - U_3 = \pm 2B^4$. Hence

$U_2 = \pm(3 \cdot 2^{4k+2} \cdot A^4 + B^4)$, $U_3 = \pm(3 \cdot 2^{4k+2} \cdot A^4 - B^4)$ and $3 \nmid B$.

$U = A \cdot B$ where $(A, B) = 1$ since $(U_2, U_3) = 1$.

From equation (11) we have $8U_1^4 = (3U_2 + U_3) \cdot (3U_2 - U_3)$. According to the previous discussion, we have the following alternatives,

ii1.) $3U_2 + U_3 = \pm 4C^4$ and $3U_2 - U_3 = \pm 2D^4$. Hence

$U_2 = \pm(\frac{2C^4 + D^4}{3})$ and $U_3 = \pm(2C^4 - D^4)$

ii2.) $3U_2 + U_3 = \pm 2C^4$ and $3U_2 - U_3 = \pm 4D^4$. Hence

$U_2 = \pm(\frac{C^4 + 2D^4}{3})$ and $U_3 = \pm(C^4 - 2D^4)$.

$U_1 = C \cdot D$ where $(C, D) = 1$ and $3 \nmid C \cdot D$ since $(3U_2, U_3) = 1$.

N.B. Concerning the expressions of U_2 and U_3 in i1.)–i4.) and ii1.)–ii2.) we have $U_2 = \pm(\dots)$ and $U_3 = \pm(\dots)$. This certainly means that $U_2 = +(\dots)$ and $U_3 = +(\dots)$ or $U_2 = -(\dots)$ and $U_3 = -(\dots)$. If solutions exist at least one parametric solution of U_2 and U_3 in i1.)–i4.) must be equal to at least one parametric solution of U_2 and U_3 in ii1.)–ii2.) for some value (values) of A, B, C and D . Thus, we have the following possibilities,

i1.) = ii1.):

$$U_2 = \pm(A^4 + 3 \cdot 2^{4k+2} \cdot B^4) = \pm\left(\frac{2C^4 + D^4}{3}\right). \quad (12)$$

Since A^4, B^4, C^4 and D^4 are positive the signs in (12) are not independent and we have,

$$3A^4 + 9 \cdot 2^{4k+2} \cdot B^4 = 2C^4 + D^4. \quad (13)$$

$$U_3 = \pm(A^4 - 3 \cdot 2^{4k+2} \cdot B^4) = \pm(2C^4 - D^4) \quad (14)$$

and since the signs in (12) are not independent so are the signs in (14) and we get

$$A^4 - 3 \cdot 2^{4k+2} \cdot B^4 = 2C^4 - D^4. \quad (15)$$

Equation (13) - (15) \implies

$$2A^4 + 12 \cdot 2^{4k+2} \cdot B^4 = 2D^4 \implies 24(2^k \cdot B)^4 = D^4 - A^4. \quad (16)$$

However according to Lemma 1 equation (16) has no non-zero solutions and possible zero solutions violate the condition $x \cdot y \cdot z \neq 0$ in the title equation.

i1.) = ii2.):

$$U_2 = \pm(A^4 + 3 \cdot 2^{4k+2} \cdot B^4) = \pm\left(\frac{C^4 + 2D^4}{3}\right) \quad (17)$$

and

$$U_3 = \pm(A^4 - 3 \cdot 2^{4k+2} \cdot B^4) = \pm(C^4 - 2D^4). \quad (18)$$

In analogy with previous discussion in i1.) = ii1.) we see that the signs in (17) and (18) are not independent. Hence from equation (18) we have $A^4 - 3 \cdot 2^{4k+2} \cdot B^4 = C^4 - 2D^4$ so $2D^4 - 3 \cdot 2^{4k+2} \cdot B^4 = C^4 - A^4$. Since A, B, C and D are all odd we have $2D^4 - 3 \cdot 2^{4k+2} \cdot B^4 \equiv 0 \pmod{16}$ and this is impossible.

i2.) = ii1.): $U_2 = \pm(3A^4 + 2^{4k+2} \cdot B^4) = \pm\left(\frac{2C^4 + D^4}{3}\right)$ and since the signs are not independent we have $9A^4 + 3 \cdot 2^{4k+2} \cdot B^4 = 2C^4 + D^4$. Hence $(3A^2)^2 - D^4 = 2C^4 - 3 \cdot 2^{4k+2} \cdot B^4 \implies 2C^4 - 3 \cdot 2^{4k+2} \cdot B^4 \equiv 0 \pmod{8}$ and this is absurd.

i2.) = ii2.): $U_2 = \pm(3A^4 + 2^{4k+2} \cdot B^4) = \pm\left(\frac{C^4 + 2D^4}{3}\right)$ and since the signs are not independent we have $(3A^2)^2 - C^4 = 2D^4 - 3 \cdot 2^{4k+2} \cdot B^4$. According to i2.) = ii1.) this is impossible after congruence considerations.

i3.) = ii1.): $U_2 = \pm(2^{4k+2} \cdot A^4 + 3B^4) = \pm\left(\frac{2C^4 + D^4}{3}\right)$ and since the signs are not independent we have

$$(3B^2)^2 - D^4 = 2C^4 - 3 \cdot 2^{4k+2} \cdot A^4$$

and again according to i2.) = ii1.) this is impossible after congruence considerations.

i3.) = ii2.): $U_2 = \pm(2^{4k+2} \cdot A^4 + 3B^4) = \pm\left(\frac{C^4 + 2D^4}{3}\right)$ and since the signs are not independent we have $(3B^2)^2 - C^4 = 2D^4 - 3 \cdot 2^{4k+2} \cdot A^4$ and according to i2.) = ii1.) this is impossible after congruence considerations.

i4.) = ii1.):

$$U_2 = \pm(3 \cdot 2^{4k+2} \cdot A^4 + B^4) = \pm\left(\frac{2C^4 + D^4}{3}\right) \quad (19)$$

and

$$U_3 = \pm(3 \cdot 2^{4k+2} \cdot A^4 - B^4) = \pm(2C^4 - D^4). \quad (20)$$

In analogy with the discussion performed in i1.) = ii.1) we see that the signs in (19) and (20) are not independent. Hence from equation (20) we have $3 \cdot 2^{4k+2} \cdot A^4 - B^4 = 2C^4 - D^4 \implies 2C^4 - 3 \cdot 2^{4k+2} \cdot A^4 = D^4 - B^4$ and according to i1.) = ii2.) this is impossible after congruence considerations.

i4.) = ii2.):

$$U_2 = \pm(3 \cdot 2^{4k+2} \cdot A^4 + B^4) = \pm\left(\frac{C^4 + 2D^4}{3}\right) \quad (21)$$

and

$$U_3 = \pm(3 \cdot 2^{4k+2} \cdot A^4 - B^4) = \pm(C^4 - 2D^4). \quad (22)$$

In analogy with the discussion performed in i1.) = ii1.) we see that the signs in (21) and (22) are not independent.

Hence equation (21) + (22) \implies

$$24 \cdot (2^k \cdot A)^4 = C^4 - B^4$$

which according to Lemma 1 has no non-zero solutions and again possible zero solutions violate the condition $x \cdot y \cdot z \neq 0$ in the title equation.

Thus we have shown that case II is impossible.

Case III. $3 \mid a$ and $3 \nmid b$

Hence $a = 3t$. From $y^2 = a(a^2 - 6b^2)$ we have $y^2 = 9t(3t^2 - 2b^2)$ and since the factors on the *RHS* are coprime we see that

$$t = \pm U_1^2 \quad (23)$$

and

$$3t^2 - 2b^2 = \pm U_3^2 \quad (24)$$

where U_1 and U_3 are odd since y is odd. Since $(b, U_3) = 1$ we reject the negative sign in (23) and (24) after reduction modulo 3 of equation (24). Hence

$$2b^2 = 3U_1^4 - U_3^2 \quad (25)$$

and we realize after congruence considerations that b must be odd. From $x^2 = b(3a^2 - 2b^2)$ it then follows since $(b, 3a^2 - 2b^2) = 1$ that

$$b = \pm U_4^2 \quad (26)$$

and

$$3a^2 - 2b^2 = \pm U_2^2. \quad (27)$$

Since $(b, U_2) = 1$ the negative sign in (26) and (27) is rejected after reduction modulo 3 of equation (27). From (23), (25), (26), (27) and since $a = 3t$ we have

$$3U_1^4 - 2U_4^4 = U_3^2 \quad (28)$$

and $3 \cdot (3U_1^2)^2 - 2U_4^4 = U_2^2 \implies$

$$27U_1^4 - 2U_4^4 = U_2^2. \quad (29)$$

(29) - (28) \implies

$$24U_1^4 = U_2^2 - U_3^2. \quad (30)$$

From (28) we have

$$27U_1^4 - 18U_4^4 = 9U_3^2. \quad (31)$$

(29) - (31) \implies

$$16U_4^4 = U_2^2 - 9U_3^2 \quad (32)$$

From equation (30) we have,

$24U_1^4 = (U_2 + U_3) \cdot (U_2 - U_3)$. Thus according to case II since $(U_2, U_3) = 1$ we have the following possibilities,

i1.) $U_2 + U_3 = \pm 4A^4$ and $U_2 - U_3 = \pm 3 \cdot 2B^4$. Hence

$U_2 = \pm(2A^4 + 3B^4)$, $U_3 = \pm(2A^4 - 3B^4)$ and $3 \nmid A$.

i2.) $U_2 + U_3 = \pm 3 \cdot 4A^4$ and $U_2 - U_3 = \pm 2B^4$. Hence

$U_2 = \pm(6A^4 + B^4)$, $U_3 = \pm(6A^4 - B^4)$ and $3 \nmid B$.

i3.) $U_2 + U_3 = \pm 2A^4$ and $U_2 - U_3 = \pm 3 \cdot 4B^4$. Hence

$U_2 = \pm(A^4 + 6B^4)$, $U_3 = \pm(A^4 - 6B^4)$ and $3 \nmid A$.

i4.) $U_2 + U_3 = \pm 3 \cdot 2A^4$ and $U_2 - U_3 = \pm 4B^4$. Hence

$U_2 = \pm(3A^4 + 2B^4)$, $U_3 = \pm(3A^4 - 2B^4)$ and $3 \nmid B$.

$U_1 = A \cdot B$ where $(A, B) = 1$ since $(U_2, U_3) = 1$.

From equation (32) we have $16U_4^4 = (U_2 + 3U_3) \cdot (U_2 - 3U_3)$. Hence according to case II we have the following alternatives,

ii1.) $U_2 + 3U_3 = \pm 8C^4$ and $U_2 - 3U_3 = \pm 2D^4$. Hence

$U_2 = \pm(4C^4 + D^4)$ and $U_3 = \pm(\frac{4C^4 - D^4}{3})$.

ii2.) $U_2 + 3U_3 = \pm 2C^4$ and $U_2 - 3U_3 = \pm 8D^4$. Hence

$$U_2 = \pm(C^4 + 4D^4) \text{ and } U_3 = \pm\left(\frac{C^4 - 4D^4}{3}\right).$$

$$U_4 = C \cdot D \text{ where } (C, D) = 1 \text{ and } 3 \nmid C \cdot D \text{ since } (U_2, 3U_3) = 1.$$

N.B. Concerning the expressions of U_2 and U_3 in i1.) - i4.) and ii1.) - ii2.) we have $U_2 = \pm(\dots)$ and $U_3 = \pm(\dots)$. This certainly means that $U_2 = +(\dots)$ and $U_3 = +(\dots)$ or $U_2 = -(\dots)$ and $U_3 = -(\dots)$. As in case II we notice that if solutions exist at least one parametric solution of U_2 and U_3 in i1.) - i4.) must be equal to at least one parametric solution of U_2 and U_3 in ii1.) - ii2.) for some value (values) of A, B, C and D . Thus we have the following cases,

i1.) = ii1.):

$$U_2 = \pm(2A^4 + 3B^4) = \pm(4C^4 + D^4). \quad (33)$$

Since A^4, B^4, C^4 and D^4 are positive the signs in (33) are not independent.

$$U_3 = \pm(2A^4 - 3B^4) = \pm\left(\frac{4C^4 - D^4}{3}\right) \quad (34)$$

and since the signs in (33) are not independent so are the signs in (34) and we get $6A^4 - 9B^4 = 4C^4 - D^4 \implies 6A^4 - 4C^4 = (3B^4)^2 - D^4$. So $6A^4 - 4C^4 \equiv 0 \pmod{8}$ and this is impossible.

i1.) = ii2.):

$$U_2 = \pm(2A^4 + 3B^4) = \pm(C^4 + 4D^4). \quad (35)$$

Since A^4, B^4, C^4 and D^4 are positive the signs in (35) are not independent and we have

$$2A^4 + 3B^4 = C^4 + 4D^4. \quad (36)$$

$$U_3 = \pm(2A^4 - 3B^4) = \pm\left(\frac{C^4 - 4D^4}{3}\right). \quad (37)$$

and since the signs in (35) are not independent so are the signs in (37) and we get

$$6A^4 - 9B^4 = C^4 - 4D^4. \quad (38)$$

$$(36) + (38) \implies$$

$$8A^4 - 6B^4 = 2C^4 \implies 4A^4 - 3B^4 = C^4 \quad (39)$$

and since $(A, B) = 1$ we see that A, B and C are pairwise relatively prime. Hence according to an old theorem of E. Lucas [12] the only non-zero solutions to equation (39) are $A = \pm 1, B = \pm 1$ and $C = \pm 1$ and if these values are inserted in (36) or (38) we have $D = \pm 1$. Hence $U_2 = 5$ and $U_3 = -1$ or $U_2 = -5$ and $U_3 = 1$. Moreover from equation (32) we have $U_4^4 = 1 \implies U_4 = \pm 1$. From equation (26) we get, after excluding the negative sign, $b = (\pm 1)^2 = 1$. Furthermore from equation (30) we see that $U_1 = \pm 1$ and from equation (23) we have after excluding the negative sign $t = (\pm 1)^2 = 1$. With $a = 3t$ we get $a = 3$. Finally if these values of a and b are inserted in the expressions of x^2 and y^2 previously we have $x^2 = 25 \implies x = \pm 5$ and $y^2 = 9 \implies y = \pm 3$ and since $z = a^2 + 2b^2$ we see that $z = 11$.

i2.) = ii1.): $U_2 = \pm(6A^4 + B^4) = \pm(4C^4 + D^4)$. Since A^4, B^4, C^4 and D^4 are positive we have $6A^4 + B^4 = 4C^4 + D^4$. Hence $D^4 - B^4 = 6A^4 - 4C^4$ and since A, B, C and D are all odd we have $6A^4 - 4C^4 \equiv 0 \pmod{16}$ and this is impossible.

i2.) = ii2.): $U_2 = \pm(6A^4 + B^4) = \pm(C^4 + 4D^4)$ which according to i2.) = ii1.) must be impossible after congruence considerations.

i3.) = ii1.): $U_2 = \pm(A^4 + 6B^4) = \pm(4C^4 + D^4)$ which according to i2.) = ii1.) must be impossible after congruence considerations.

i3.) = ii2.): $U_2 = \pm(A^4 + 6B^4) = \pm(C^4 + 4D^4)$ which according to i2.) = ii1.) must be impossible after congruence considerations.

i4.) = ii1.):

$$U_2 = \pm(3A^4 + 2B^4) = \pm(4C^4 + D^4). \quad (40)$$

Since A^4, B^4, C^4 and D^4 are positive the signs in equation (40) are not independent and we have

$$3A^4 + 2B^4 = 4C^4 + D^4. \quad (41)$$

$$U_3 = \pm(3A^4 - 2B^4) = \pm\left(\frac{4C^4 - D^4}{3}\right). \quad (42)$$

and since the signs in (40) are not independent so are the signs in (42) and we get

$$9A^4 - 6B^4 = 4C^4 - D^4. \quad (43)$$

Equation (41) – (43) $\implies 4B^4 - 3A^4 = D^4$ and in compliance with the discussion performed in i1.) = ii2.) this will ultimately lead to the only non-zero solutions $A = \pm 1, B = \pm 1, C = \pm 1$ and $D = \pm 1$. Hence $U_2 = 5$ and $U_3 = 1$ or $U_2 = -5$ and $U_3 = -1$. Thus according to i1.) = ii2.) we have again $(x, y, z) = (\pm 5, \pm 3, 11)$.

i.4) = ii.2):

$$U_2 = \pm(3A^4 + 2B^4) = \pm(C^4 + 4D^4). \quad (44)$$

Since A^4, B^4, C^4 and D^4 are positive the signs in (22) are not independent.

$$U_3 = \pm(3A^4 - 2B^4) = \pm\left(\frac{C^4 - 4D^4}{3}\right). \quad (45)$$

and since the signs in (44) are not independent so are the signs in (45). Hence $(3A^2)^2 - C^4 = 6B^4 - 4D^4$ and according to i1.) = ii1.) this is impossible.

Thus there are only primitive non-zero solutions to the title equation in case III when i1.) = ii2.) and i4.) = ii1.) with $A = \pm 1, B = \pm 1, C = \pm 1$ and $D = \pm 1$ and this corresponds to the only primitive non-zero solutions to the title equation $2x^4 + y^4 = z^3$ namely $(x, y, z) = (\pm 5, \pm 3, 11)$. \square

We can now summarize the results in this work together with extensive results by others in the following theorem.

Theorem 2. *The only primitive non-zero solutions to the Diophantine equation $2x^4 + y^4 = z^n$ for all $n \geq 2$ are $(x, y, z, n) = (\pm 5, \pm 3, 11, 3)$.*

Proof. The proof of no non-zero solutions if $n = 2$ can be found in e.g. [14]. If $n > 3$, we conclude from [4,5] that the only primitive positive non-zero solutions to the equation $2x^2 + y^4 = z^n$ for all $n > 3$ is $(x, y, z, n) = (11, 1, 3, 5)$ so the equation $2(x^2)^2 + y^4 = z^n$ has no non-zero solutions if $n > 3$ since 11 is not a square. \square

Acknowledgements

The author thanks Erik Aldén at the Department of Mathematics and Mathematical Statistics, Umeå University, Sweden, for kindly reading the manuscript.

References

- [1] Terai, N. & Osada, H. (1992) The Diophantine equation $x^4 + dy^4 = z^p$, *C.R. Math. Rep. Acad. Sci. Canada*, 14(1), 55–58.
- [2] Cao, Z. F. (1992) The Diophantine equation $cx^4 + dy^4 = z^p$, *C.R. Math. Rep. Acad. Sci. Canada*, 14(5), 231–234.
- [3] Darmon, H. & Granville, A. (1995) On the equation $z^m = F(x, y)$ and $Ax^p + By^q = Cz^r$, *Bull. London Math. Soc.*, 27(6), 513–543.
- [4] Bennett, M. A., Ellenberg, J., S., & Ng, N. (2010) The Diophantine equation $A^4 + 2^\delta B^2 = C^p$, *Inter. J. Number Theory*, 6, 1–27.
- [5] Dieulefait, L., & Urroz, J. J. (2009) Solving Fermat-type equations via modular Q -curves over polyquadratic fields, *J. Crelle*, 633, 183–195.
- [6] Bruin, N. (1999) The Diophantine equation $x^2 \pm y^4 = \pm z^6$ and $x^2 + y^8 = z^3$, *Compositio Math.*, 118, 305–321.
- [7] Bruin, N. (2005) The primitive solutions to $x^3 + y^9 = z^2$, *J. Numb. Theor.*, 111, 179–189.
- [8] Poonen, B., Schaefer, E., & Stoll, M. (2007) Twists of $X(7)$ and primitive solutions to $x^2 + y^7 = z^3$, *Duke Math. J.*, 137(1), 103–158.
- [9] Söderlund, G., & Aldén, E. (2013) A note on the diophantine equation $Cz^2 = x^5 + y^5$, *Advances in Theoretical and Applied Mathematics*, 8(3), 173–176.
- [10] Mauldin, R., D. (1997) A generalization of Fermat’s last theorem: the Beale conjecture and prize problem, *Notices Amer. Math. Soc.*, 44(11), 1436–1437.
- [11] Goldfeld, D. (2002) *Modular forms, elliptic curves and the abc conjecture*, in: A panorama of number theory or the view from Baker’s garden, Wüstholz, G., (ed.), 173–189.
- [12] Lucas, E. (1877) Sur la résolution du système des équations $2v^2 - u^2 = w^2$ et $2v^2 + u^2 = 3z^2$ en nombre entiers, *Nouvelles annales de mathématiques 2^e série*, tome 16, 409–416.
<http://www.numdam.org/numdam-bin/browse?j=NAM&sl=0>
- [13] Sally, J., D., & Sally, P., J. (2007) *Roots to Research: A vertical Development of Mathematical problems*, American Mathematical Society.
- [14] Cohen, H. (2007) *Number Theory Volume I: Tools and Diophantine equations*, Springer, New York.